GK bR‡i 6bs myjZvbcyi BDwbqb cwil`
1| AvqZb 



= 13 eM©gvBj| 

2| MÖvg



= 44wU|

3| †gŠRv 



= 09wU| 

4| nvU evRvi



= 01wU| 

5| cÖv_wgK we`¨vjq miKvwi
= 14wU| 

6| cÖv_wgK we`¨vjq †emiKvwi
=01wU| 

6| gva¨wgK we`¨vjq 

= 01wU| 

7| wk¶vi nvi


= 51.52%| 

	µwgK bs
	IqvW© bs
	RbmsL¨v
	Lvbvi msL¨v
	gšÍe¨

	01
	1
	1464 Rb
	329wU
	

	02
	2
	1985 Rb
	447 wU
	

	03
	3
	2807 Rb
	514 wU
	

	04
	4
	2730 Rb
	444wU
	

	05
	5
	2502 Rb
	477wU
	

	06
	6
	4075Rb
	906wU
	

	07
	7
	2347 Rb
	421 wU
	

	08
	8
	1802 Rb
	338wU
	

	09
	9
	3043 Rb
	607wU
	

	me©‡gvU 
	9wU
	22,755 Rb
	4483 wU
	


